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CC Algebra

Cumulative Review #2.7
Show work for all questions for full credit 

& write your answers on the lines provided!!!

(If you feel no work is needed you must explain your reasoning.)

1. Boyle's Law involves the pressure and volume of gas in a container.  It can be represented by the formula [image: image1.png]


.  When the formula is solved for [image: image2.png]


, the result is

	A. 
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1.  ______________



2.  Which point is a solution to the system below?
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	A. [image: image8.png]



	C. 
	[image: image9.png]





	B. 
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2.  ______________

3. Two friends went to a restaurant and ordered one plain pizza and two sodas.  Their bill totaled $15.95.  Later that day, five friends went to the same restaurant.  They ordered three plain pizzas and each person had one soda.  Their bill totaled $45.90.  Write and solve a system of equations to determine the price of one plain pizza.  [Only an algebraic solution can receive full credit.]
3.  ____________________
4.  In attempting to solve the system of equations [image: image12.png]


 and [image: image13.png]


, John graphed the two equations on his graphing calculator.  Because he saw only one line, John wrote that the answer to the system is the empty set.  Is he correct?  Explain your answer.
4.  ________________________________________________________________________________
___________________________________________________________________________________

___________________________________________________________________________________

5. Ian is borrowing $1000 from his parents to buy a notebook computer.  He plans to pay them back at the rate of $60 per month.  Ken is borrowing $600 from his parents to purchase a snowboard.  He plans to pay his parents back at the rate of $20 per month.  Write and solve an equation that can be used to determine after how many months the boys will owe the same amount.  After how long does this happen?










5.  ____________________

